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f:[-2.2]>[-2.2], g:[-2.2] »[0.4] are two functions defined as
(-2, -2<x<0 |
x)={ and g(x)=|f(x)[+ (|x|) then
=l e wd to=ltol )

Cotw pahalawen f:[-2,2]»[-2.2], g:[-2,2] »[0,4]wed
(-2, -2<x<0

0129 0exer

608 ¢(x)=|f (] + / (o] 20523, it

Options:

f and g are injective mappings

J 000N g wo ©3gE 000N

1. %
f and g are surjective mappings
S e00CiN g L0 Dol R2R0RES0LY
2. ¢
/ 1s bijective mapping and g is injective mapping
S ogies 93005050 00K g ¥ OSoaSw
3. %
f 1s not bijective mapping and g 1s surjective mapping
S Qgives 2e00R0 5260 SDOCW g Dol V00N
4. %
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. . 1 .
The domain of the function f(x)=———1s
T =
Q00N f(x) = = GI0E), QE0
X%
Options :
R
1. %
(_'I': 0)
2. %
(0,%0)
3. %
(_':x:'.*- 1)
4. %
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Forany neN, 4" +15n—1 1is divisible by

QD23 neNK, 4" +151 1% 800 Dowdg



Options :

2
1. %

9
2. ¥

3
3. %

0
4. %
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a3
[£P=|1 3 3|1stheadjont ofa 3x3 matrix A and det(A) = 4, then ¢ =
2 44
| o 3
W8 3x3 & SO0 e A % odwol) drg¥ P=|1 3 3| hOdiy A alg)
244

A% 4 o, 0=

Options :

PAL



11

2.

"

3
3. %

A
4, %
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a B vy m n |
X -
If |@a b c|=(-1)"|b c a|, thenthe leastvalue of Kis
m n g v a
a f vy m n
; .K z r W
a b c=(-1)"|b ¢ a| ©0NS, K 0¥ EQ aend
m n g v a
Options :
2
3
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If the system of equations x+y+z=1 x+2y+4z=K, x+4p+10:=K" is

consistent then K =

il Sy xtytz=l x+2y+dz=k, 144y 4102 =K Joffo wond, K
Olbﬁzy HIOW

Options:

1,-2
1. %

=12
2. %

1. 2
3.

~1,-2
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The locus of z = x+iy such that Im( - J: 0 1s
ciz+4,
(=
[111k =0 ®0bg z =x +iy CIE) 2Joll DWN
Options :
x gt =12 =40
1. %
4y —Ty4+12=0
2. %
x>+ y*—=T7y+12=0 and (x,y) #(0,4)
x*+y" —Ty+12=0 SO0 (x,y) = (0,4)
3. ¢
x*—3y*+7y—-12=0 and (x, y) #(0,4)
x> =y 47y -12=0 365w (x, ¥) # (0,4)
4, %
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. . 71 T
If wis a complex cube root of unity, then cos [( 0™+ | 1- Z] =

T

1234 2021
+0 ):r—— =
4

[ Wb
030 I8 Q05 a WPLo 90d, O €os (f.'f)

Options :
A,
2
1. #
]
2
2. %
J3
o
3. % -
-1
2
4.
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S0 ¥+ 2x+2=0 cg) reren 7,2, sowd, o —1——=

5 2
7, +1-3i)"
Options:
64
1.+
% 5
2. %
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\/1_1 :

Let f(x)=ar’+br+cand GCD of a, b, cis 1. AL L ' f(x)=0 and

f [ - ]— L =(x+4)(3x-5) thenk and L are respectively

! £

f(x)=ar’ +hvte H00w a, b, ¢ 0 7 ¥ 57 1 ohowad. f(x)=0 g ol
| b

—7+J_

\
fl%j_L = (1 +4)(31-3) eand, oy k Sooosn L v
oo
Options :
1.—15
1. %
i, 25
2.
7.—15
3. #
7.25
4. %
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o ] . Pyt
For YxeR the mmmum value - and the maximum value 3 of -
3 o -

exist at /

and m respectively, then [+ m =

7
%58

VxeR § GIg S0 Qe % 00 (103 e 3 & AR | HOA) m

¥oxk]
0 o) dgeSdel sowd, e [+m =

Options :
—22
1. %
0
2. ¥
17
3. %
-7
4. ®
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It 2 and 3 are the two roofs of the equation 2x’ +mx* =13x+n=0, then the values of
i, 1 ate respectively

Nas0eo ZﬁrEJrrn.*rz—lS.r'—n:()c:ﬁ.‘uézr oty doreren 2 00 3 w0 wond m, 1

DN AT

Options :

—3,;—30
1. %

—3,:34)
2. %

3,30
3. %

5, —30
4, %
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If -1+47 is a root of the equation v* +4x’ + 5x” + 22 =0, then the real roots of this
equation are

S0 o+ +5x0 +2r-2=0 ol o8 Pve —1+i sowd, & e

GI08), P PP

Options :



1. %

—1+42
2.V

J2 43
3. %

342
4, %
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By using the non-zero digits, the number of 3 digit numbers that can be formed so that
each number has largest digit m 1ts middle place and the digits i the number are
different 1s

8PRg80 9030 GRAPNNF, NowgER iy @S 0Rorrd HOON DowgdR ©R)

oS 2El PP Goditaty aOYG 460 § a8 Pomgu Mg

Options :
9
%
2 A
r=4
1. %
8 8
r !
Y E=)H
r=4 r=4



B

r=4
3., %
8
b
2 h
4. r=4
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I, denotes the number of triangles that can be formed with the vertices of a regular

polygon of m sides. If I, ~T =15, then m =

m aees S0 0 e ol )00 Sabeiu S T, iraied,
T.-T =15 eod,m=

Options :
4
A
1. %
6
2. %
9
3. %
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| | L
The term independent of x in the expansion of ‘ X—— | IS

'y

VTS x SR DS

Options :
15

21('15 (_ )
1. %

215 2

C
> 14
3

—21. (2)
3. % '

_21(_.1 dl—'l
4, ® J
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If the sef of all values of x for which the expansion of (7—5x]% valid 15 equal to

(-a a), then Sa+7=

(7-5x) 7 sy a0 Pgeoigttn o @) 1 DKo 506 (-0 1) % P

©aNd, 50+7=
Options :
14
1.¢
21
2. %
0
3., %
12
4, %
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1
\a
1S

x

P

The coefficient of x”in the expansion of [ 1-
LY

|

!

&

x| AR0RS x7 ) ek



Options :

27
1024
1. #
57
1024
2.9
81
1024
3. %
81
1024
4. ®
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32x" +186x 37x+1 A A
If — =————+—— then —=
(¥ +1)(x+5) x4l x+5 2
32x"+186x  37x+1 A L A
— —— + , V0ND, VWYled — =
(x‘+1)[r+5) ¥kl a0 2

Options :

=3



|
ol

2. ®
-3
2
3. ®
-5
2
4. &
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The period of tanky +smky, where £ =1+4+9+....20 terms, 15

E=14+4+9+....20 Jarenrr S0%0od, tanky +sin ky ) b

Options :
T
1435
1.+
2
1435
2. %
T
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11 } — ([ B)

If cot4 :E. cosB :? and neither 4 nor B is m the first quadrant, then | 4 b

) :‘ 1 L /.Il

lies m the quadrant

4 3 6@ B 3 S Gaf) HOOL cot A:%, cosB:; BONS, BYE
25

(
'A-I-g G0l aPlo
\ 2/

Options :

I

1.4

II

I



Question Number : 22 Question Id : 342604982 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; A B €
Ina A ABC. if COSA‘FCOSB‘FCOSC:G+b51115511]75]117.ﬂ]eﬂ a+b=

- =

; orlhe B oo L 5
s A ABC, & cosA+cosB+cosC :a+b511135111?5m; 9008, ©YE +b=

- =

Options :
-
3
1. =
0
2. %
|
3. %
3
4.
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J3 cosec 20°—sec 20° =



Options :

1
1. %

2,
2. %

,

]
3. %

4
4, &
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The common solution set of the equations 2sin” x +sin’ 2x=2 and
sin2x+cos2x =tanx is

DEGeasnen 2sin’ x+sin’ 2x =2 SO0 sin2x+cos2x =tanx ©
C&D&‘Zy %S&)&& AANSRONNE

Options:



{YER/:(:(BHJA)%,HEZ}

{xe R/x :(4;;+1)§,n EZ}

{YER/.Y:(&M;—I)%,?? ez}

4. %
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2Tau_l{l]+Tan_1 {i\] =
7)

Options :
- 49"
Tan 1(—
o 29,
T
2
2. %
0
3. %



T
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It cosh2x =241, then cothx =

cosh 2x =241 esoned, cothx =

Options :
7
30
1. %
11
2. %
7
2+/30
3. %
il
24/30
4.
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Correct Marks : 1 Wrong Marks : 0

. . i A C
In a triangle ABC, if a+¢=5b then cot?cotg =

1

; A
¥ Sehessld ABC &, a+c=5b 2000 @i cot?cot: =

i

Options :
2
1. %
l
-
i
2. %
=
3
i,
i
3.¢¥
2
e
3
4, %
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C »A 3D

Ina AABC, if acos”—+ccos 2 =—. then
1 C A 3b I
2.8 AABC &, nc0523+rc052 = . oW O
Options :
2b=a+c
1. %
b’ =ac
2. %
.
9 Ldac
b‘ ==
a+c
3., %
a+b+c=1
4%
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) \
h]ﬁABC,ifB+C=72°,theu(1+E+E( ¢ a|

G Ay | b b J

3
AABC ¢, B+ C =72° eoowd, e (1+£+2J(1+%_%]:
X )]

Ty
T

Options :



2445
'|_$3
\EH
2. ® 2@
52
A
3_33
5—/5
2
4. &
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Ina AABC, 7,1, respectively denote the radms of excircles opposite to the

vertices A, B, C and  denote the radius of the meircle. If p;, p,. p; respectively are

3

.1 1}'
_+_+_ =
bobn b

the altitudes of the triangle from the vertices A, B, C then

w8 AABC &, 1.0 S0 dvn A, B, C 080 QG 6d) amig §)8
FEPTUND OO 1 @3l @0l dy® PTd) wraFow. 4w A, B, C v del

7

FE 1}‘
_.|___|__ =
hbpob

ey G SEF . py. py 0 G0N,




Options :

B g 3
- 1 B K
| T | 1]
r\. B 5,
2. %
2
r o r
\h Hh &
3_35
e
4. %
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If x and y are real numbers such that, 7+7+k, 27 +3j+2k, xi =57 +3F,

i +vi-k arethe position vectors of four coplanar points, then the locus of P(x, ) 1s

vS0lrw eaby Tl Dol FOGIL ©dbin aold, 8@ Plx, ¥) aug
AANSARW

Options :

¥ 3 4 3x£5p=0



2.9
 (x+3) =5(y+5)

3. %
(x+3)(y+5)=45

4. %
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The direction cosines of the supporting line of the vector i +j -2k are

T+ -2k D68 qw) ewd o ), &5 Spdw

44
2 2
2. %

( I 4 2



g
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The perpendicular distance from the pomt P (3, 3, 2) to the line L passing through the
point )i J and parallel to the vector i+ *\} +2k is

Do0sh 2+ Eocep 008 1437+ 2k § Deiotorr ol S LHP (3,5, 2) hobs
QOTSIEANVIONW

Options :

5-

1.+
2
3
2. %
N6
N
3. %



Question Number : 34 Question Id : 342604994 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Suppose ABCDE is a pentagon. The resultant vector of the vectors

ABCDE a8 Rouigbes. 0@don AB, AE, BC,DC, ED &oaf AC © a8 208 06

Options :

3A
1.¢

3AD
2. %

3AE
3, #

2AB
4. %
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Correct Marks : 1 Wrong Marks : 0
If a=i+j+k, ec=j-k, axb=c and a-bh=3,then b =

a=i+j+k, c=j—k, axb=c 600 a-b=3wond, b=



Options :

L (5i+27+2F)
3
1. %
l & - i
;(2;+3;+2ﬁ:)
2.% 7
< (2i+27+5F)
2
3. %
%(2}—5}—5]
4. % )
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[ the Cartestan equation of the plane passing through the potnt i+2j+k and parallel

to the vectors 2i + 3} +hand-i+ 2} 3 s ar+ by+cz=1 then 18(a+b+c)=

Dolloe) i+2j+k oot P, 2i+3j+k 005 —i+2j-3k DO Sratior

ot Bt 800 050800 Erivel” ax +By+ ¢z =1 wand, ©) 18(a+b+c)=

Options :



(s

2. ¢
4
3. %
—4
4, %
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The mean deviation about the median of the discrete data 12, 15,7.4.4,15.23. 14 1s

088 Wt 12,15, 7,4,4, 15,23, 14 S0 0510 chols shgald el

Options :

=
1.+

8
2. %

13
3. %
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[n a college 40% students attend Mathematics class, 30% students attend physics class
and 20% students attend both the classes. If a student 15 chosen at random from the
college, the probability that the student chosen attend only one class is

§ Serod 0% drgdocn deid G348, 30% aarglin 7SS 9 GUAGS oaly
20% gy @ Tobw SIEWN Pl S)TN. S7F0 ol WP BGT 4l
SP30% W) 8003, & g0 63 28 SUISS iPaaiolg Horralg

Options :
3
10
1.¢
1
3
2. ®
2
3
3 %
4
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A and B are the two groups of books. Group A consists of 8 science and 5 engineering
books and the group B consists of 6 science and 7 engineermg books. When an
unbiased die 15 rolled, 1f 2 or 5 turns up, a book 1s selected at random from the group
A, otherwise a book 15 selected at random from the B group. When an unbiased die is
rolled, the probability of selecting a sctence book 1s

A 00 B 0 Golid 8 wdriraion. sbriraly AY 8 Lo, § PoSes
el 2 VSehion oa)) shOok eriraly B & 6 depandy, T weS38 el 2
RS $05). 8 RRP S PR GO0, RadParad A fobs AlPEyByGore o
DR 28 D 2 8 5 DGR Sk, S Do B Dol a8 YRRy
AUrdyiySore oy Bobro. APyEE FAKD GQodNDE) K SEY YIS
VMmN

Options :
13
24
1. %
34
35
2. %

3.¥
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Two friends A and B meet every weekend either at a party or at a Sports Club. The

probability that they meet at Sports Club 15 % The probability that they will dine

o) .
together at a party and at the Club are respectively — and A On a certain weekend
] !

the probabality that they disperse without dine together

A 90080 B o ath it 99 i s ) 80 50y 85 80 50
Salrt. 50 a5 5 800 g % Pl P 5 H00k 45 46 b

APANNERSIRIVNG VN o % MO % 8 PGode P 508 iSuaw
J ;
O e a@@ﬁfémé bowégé

Options:

86
133

1.4



27
2. %
17
27
3., %
56
135
4. %
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The probability function of a discrete random variable X is given by P(X=r)=Kr’

where r=-2.-10.1. 2.3 and K 15 a constant. The sum of the variance of X and the
square of the mean of X 15

sy, OFyRS doos Xy Rerdgd Sdadn P(X=r)=Kr', s

r=-2-10,1,2,3 00k K a8 oot X alugy, adyd S0 eof sy

Cﬁlﬁ% 5(?0 3 S&J@o
Options :
81
19



27

19
18
19
3. %
115
19
4, &
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If a random vartable X denotes the number that appears on the upper face of a die
Variance of X

Mean of X

when 1t 1 tolled. then

8 aredh (o), @ Gadly oao D ERodd o3 QISR e X &7 Py,
)

X O008), Qe

X O].ngr @omcﬁgcﬁia

Options :

7



Tad
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[—
-2

G‘*.I'l_.ﬂ
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Let S be the set of points on X-axis lymg at a distance d units from (3, 4). Which of
the following 15 trug?

(3, 4) ots d arly drded” X- 0o 2 ol Dol VNS § @Ko, &8 ol
P b Sgen?
Options::
S 1s an empty setif d < 4
d <4 ©@ond S Ardg Do
1.

S contains infinitely many points if d < 4

d <4 @005 S ©950€8 2Jolided)ed 5@ Gotolw



S contains at least two points if d =4

d =4 @005 S 000 Tl 2olded)ed 3..':(’; Gotlol

S contains exactly three points for any d > 4

2D d>4§,S @&J@oﬁ“ NP EATASINGTSY ﬁﬁ‘;} Gotol
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If the coordinate axes are rotated m positive direction by 45 without changing the
origin, then the transformed equation of 3x’ +3y* 4 21y-2=01s

SPoedoliaahed o Sote, ASPS s & OFS 45 eeao I,
3437+ 2 -2=0 G, e udideo

Options :

22X w¥r=]
1.4

X5V =]
2. ®

X' 2% =1
3. %



X—¥ =1

Question Number : 45 Question Id : 3426041005 Question Type : MCQ Option Shuffling : Yes
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If the equation of a line parallel to 3x—2y+5=0 and at a distance of 5 units from 1t
15 3x-2y+C=0,thenC=
3x-2743=0 % SPedUorr Gotar, RS 5 ARl Erde Gols O NbElae

3x-2y+C=0, 0008 (=

Options :

5

(14413 )
L '\/E S

1. %

. 5(+ 13;1]

. 5(\/Eil]
~_\[—l'a/ﬁw".
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If a line L passes through the pomt of mtersection of the lmes 2x+3y+1=0 and

x+y-3=0 and the angle made by the e L with X-axis measured i positive

,

direction from the positive X-axis is Tan™ ; , then the sum of the intercepts made by
2

this Ime on the axes 1s

2x+3p+1=0 000 x+y-3=0 du Dol dodaf) o Fah &8 I L 60
H 42

O X ool GROHS SOy, X-tosebes” o G L b Sto Tan™ =, s,

& O o0rnd 02U we ©oddweere i

o

P

Options :
i
41
1. %
205
&
2 %
S
41
3 %
i)
4. 6
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Match the items given in List-I to the items given i List-II

DT & B2 TR HYET &2 eed’, 90 Foyols

List-I List-II

A)  Line passing through (-4,3)and having D 2x-5y+4=0

intercepts 1n the ratio 5:3
290890 oGP 5:3 c@&}o)@;?@f 5(@ &ols

300050 (—4,3) ool Hoocedrcd O
B) Line passing through P(2,-5) such that P M 3x+5y=3

bisects the part mtercepted between the axes
P(2,-5) 2d0ti2af) Baotedritr A0S wzre

06y WPRY P Dedodg@etid SR S
C) Line parallel to 2x-3y+5=0 with ) 10x=15y+4=0
3
x—Intercept % is
5 2
X— o oléo T @'52.1'—3_1-’4-5 =0 %
5
Vn.)oﬁ?o@éo(? (%o(_fﬁa&)
D) Line perpendicular to Sx+2y+7 =0 with IV) 10x-15y=4
: 4.
y —intercept — 1s
5
4
y — o Poléo = 5 Sx+2y+7 =05 ©otorP
Gole OB
V) 5x-2y-20=0

The correct match 1s
Q00 238
Options :
A B L D
II V I I



V I I 1II

2. %
A B . D
II S 1. T |

3. ¢
A B KL D
II I v Vv

4. %
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If (A, )is the image of the point (2,-3) with respect to the line Sx -3y =2, then
h+k=

Sx-3y=2 Gyapg, (2,-3) oy DSeowo (h, k) oowd, e hi+k =

Options :
-3
1.9
"
)
34



I'__J-I

Question Number : 49 Question Id : 3426041009 Question Type : MCQ Option Shuffling : Yes
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If the product of the lengths of the perpendiculars drawn from the pomt (-1, 3) to the

N— ) .03
pair of lmes 2x™—xy+hy™+6x+y+4=0 15 2 then 3T +92k
26

089 (=1, 5) oo S tyo 26"~y +y" + 64y +4=0 28 00 o e

6ﬁ sy 171
o —=, @ond, o 3Tk +92k

V26

Options:

56
1. %

53
2. %

i o
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If the pair of lmes joining the origin to the points of intersection of the line x+y =1
with the curve x*+ "+ 20y +gv+ f+1=0 are at right angles, then the point
(g./) lies on the e

So '+ + 2y + ge+t fy+1=0 00050 G 1+ 7=10 2 Holideford
SreRodiaes’ §93 Baﬁoﬁwﬁgow Qolol® Gold, )i g | 8otda)) ol 00

Options :

2+ y=9
1. %

x—y=4
2. %

x+y+4=0
3. ¢

X+H2y=3
4. %
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The circle x=3cosf,y=>5sn6 1s bounded by the rectangle formed by the lmes
v+6=0and y£6=0. The arca of the triangle that lies inside the rectangle which 1s

(2r) L el
formed by the tangent at P| — | to the circle with two of the above given lines 1s

\3)

r=5cosf,y=3smf oI Sy x£6=0 HOw y16=0 Jwod bé‘hd

&om’wc‘ﬁ"md‘; NUNAERIA &éé 0 a0 Golar, P| — i

L

Dol 5 Sy

\ J

Ao 6 S’ 23 Dy wos Betd B 008 e g

Options :
62 —244/3
3
1. %
(643 -4
254
2. %
A48 ++/3
3. %
lfﬁﬁ—zlr
2[ 3
n ‘ y
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If the two circles x*+y* -2v—6y+10-r"=0 and x*+y* -8x+2y+8=0 have a
common chord of non-zero length, then

4y =20-6p+10-r" =0 K0 ¥ 97 -8r+2y+8=0 oI Fotd Sy
AP0l by amg &) 5O o, i)

Options :

2<r<8§
1.¢

0=y
2. %

r=2 8
3. ®

8§ <r<13
4, %
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The angle between the circles v+ 7" ~2v-9=0 and v"+y*~4y-1=0 at their
point of mtersection is

Yyt -2e-9=0 00 ¥ +p7-dy-1=0 B0 woks dedeo &
SyBalne idy $tao

Options :
T
6
1. %
T
4
2. ¢
T
B
)
3. %
T
2
4, %
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If two circles touch at (0.0) externally, then their radical axis is

Goted & yessne eirgorP (0, 0) S8 0330080083, @i el drerdo

Options :



T=perr=—3%

r=3 G x=—y

1. &
does not exist
535@@0 STAY
2. &
any line passing through (0,0)
(0,0) Hoot® P DB S
3. ®
their common tangent at(0.0)
(0,0) 5 77¢3 @y 0383 Ow
4.4
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If the straight line xcos@+ ysina = P infersects the circle x*+v"=a" at Aand B
then the equation of the circle with diameter AB 1s
xeosa+ysing =P e300 ¥’ +y =a’ SyTy A Hoa B & by o
AB @PgedrP (i) o5y RahCeasiy

Options :

x> +y*—2Pxcosa—2Pysina+2P*—a* =0
1.¢



x>+ 9y +2Pxcosa—2Pysina+2P*+a’ =0

2, %
x4y = IPxcosz+t 2Pysinag—2P*—q> =0
3,
x> +y* —2Pxcosa—2Pysina—2P*+a”> =0
4. %
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The area of a triangle (in sq. umits) formed by the latus rectum of the parabola
1" =16y and the lines joining the vertex of the parabola to the ends of the latus
rectum is

¥’ =16y doesoaho s S Soak Dorsuad i) ) Lot e’ 00
S0’ Vs Sabez Frogo (W || e

Options :
24
1. %
28
2. ®

3.v



Lsd
-2

64
4, %
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If (2. £) 15 a point on the parabola passmg through the pomts (1,-3), (=1, 5), (0, 2)
and having its axis parallel to the Y-axis, then k=

Y- w8 Sradarp oo 80 ot (1,-3), (-1, 5), (0, 2) dothigo thom 2
SorS0000 B (2 ) Dotiosh o, ) k=

Options :
—10
1.¢
N
3
2. %
~7
3. %
5
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2 2
: X v 3 ; :
The ellipse — +Z_ =1(b>a) and the parabola y” =8av cut at right angles. If e 15
a 0o

the eccentricity of the ellipse, then ¢' =

8 S8 ﬁ+%:1(b}f;) DO Sosootio =8 w v
: T+

@o@oﬁ&ow@lw. &C)jégfg)o %@&oé@ 2 HOND. B o' =

Options :
|
4
1.4
2,
16
2. %
|
8
3., %
.l
64
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The coordmates of any pomt, in the parametric form, on the ellipse whose foci are
. si. 1
(=2, 0),(8,0) and eccentricity —, 15

\2

(<2, 0), (8, 0) &0 w0 008 edyalsé %m 0% 80850 b g Dol
agy Aratuw dordol dried

Options :

(“’r«,ﬁ cos &.5s1n 9]

1. %

(3+5\/2-_c059.551116)
2. %

(3+5c059.5«/§5in€)
3. % '

(5(?05 9ﬁ3+5\55iu{9]
4. %
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The focii of the hyperbola 5x* —6v* —=10x-24y-34=0 are

5x% =6y —10x-24y - 34 =0 ©SHTSL00 Gy, TADW

Options :

2.%5
f ; ~1'.
Qiﬂ.ﬂ'
"a
3. %
{ Y
‘u“m,—z
4.4 V2 /
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A2,3,-4),B(-3,3,-2), C(-1,4,2),D(3, 5, 1) are the vertices of a tefrahedron. If Gy,
(2, Gs are the centroids of the three faces having the vertex D in common, then the
centroid of the triangle GGG 15

A(2,3,-4), B(-3,3,-2), C(-1,4,2), D3, 5, 1) e a8 oy ity 8oen. D o
el Doldre S0 e Solarianey G, Go, HOAN G3 wawd, Sabeas
GGG Cﬁ.l.)fa(ar QOQE_J%O

Options :
(0, 0, 0)
1. %
[5 35 —5)
- .9 9 3 )
5 35 -5
3 % M k] 3
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Suppose the distance of a pomt P from the origin O 15 63. If the direction ratios of the
line OP are 3, -2, 6 then the coordinates of the point P 15

SirRdoted) O ot a8 eloddaad) P § i o 63. OP Do ciwsy &S Ay&en 3, -2, 6
SR, & alolided) P i), Arisw

Options :

(—27, 18, 54)

(37 18 —54)

(27, —18, 54)

(—27, —18,—54)

Question Number : 63 Question Id : 3426041023 Question Type : MCQ Option Shuffling : Yes
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The volume (in cubic units) of the tetrahedran bounded by the plane 3x+4y-3-=60
and the three coordimate planes 1s

Br+4y -5z =60 o Go hOo dirt AArE Susud 'S Hlado odly Weing
i dedegio (]| Oﬁf@@@é )

Options :



00

720
2. %
600
3.¢
4800
4. %
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\/%[1——c052x)

-

lim
x—0" X

Options :

1

.-}
o



does not exist

S350
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,-)J.' g A-X
. y ; . ; # 0 . . 1
If the function defined by f(xv)={ , 15 contmuous at x =0 then ' =
‘ k, o x=0
2x 1 2—1\
J 1 X :’{:O 4 ¥ .
f={ , TP 3ol abao v= 0 &4 ey 0 00w,
b e
o) ¢ =
Options
. 2 H.II
log [ —
\ e,
log4
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. 2sin x--sih 2x
lim - =
x—0 X

Options :

Does not exist

38880 S8
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If /:R—R, isdefined as f(x):|x+1|+|x—l|, then f(x) 1s
fFRoR & f(x):|x+1|+|x—1|, T AUIWR V)6 [ (x)
Options :

not differentiable at every real number

0SB P08 Notg S @SELI0Ne 52

not differentiable at —1 and 1 only
—1 ok 1o &$& oﬁj"@& 29058000 PN
2. ¢
not differentiable at —1. 0 and 1
—1, 0 00k 1w &6 Si?é&i: 29580000 PN
3_ F
differentiable on R
R & edfododoe
4, %
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If f(x)=|2x"+3x-1 3x 3x-3|, then ;—i(f(x)]:
x

X +x x+1 x-2
f(x)=2+3x—-1  3x 3x-3|, ©0owed N

(f(‘f]

C+2x+3 2x-1 2x-1

Options:
24
1.4
0
2. %
—0
3. %
12
4, %
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gB)=6md g=1"

_ré.lr-_i)

Let fand g be two differentiable functions satisfying ¢'(5)=

Then f'(6)=

. 9(5)=6 0ok g= 7 o &y 90 Gulh eudol oL f

g0)=

000 g w0 odhSomo. @@ f'(6)=

Options :

o

| K2

| =
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-

If y=x+tanx, then cos® x—=+2x=

dx”
:
B el , d7y
y=x+tanx, ©0ND, ®)tw COS  x—5-+2x=
X
Options:
-2y
1. #*
2
_"I'
=
D
2. %
3v
3. %
2y
4.
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The semt vertical angle of a right circular cone 15 30°. If the height of the cone 13
0.125 cm, then the approximate value of the volume of the cone (in cubic cm) 15

ot syl doamal) gy, 0788 eio 30°. doamad) W) 6.125 cm owd, dogun)

SunS0aietao (3] | fo. o €) 0Ty, GPomoR) s

Options :

(76.5)

A8
3. k3

4, &
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L . .
The equation of the normal drawn to the curve y=sm3x at x="—1s

: T
y=sin3x $$A x= 7 56 ORI ©8) Lot Ta ¥

Options :



20k )
1_@5
\E“’ 6—m
= ‘x+
3
J
2. %
3(. 6-—m)
Y =—— %~
2\ 4 )
3. %
s,E“" 6—1 )
V= X— J
3 4
4, %
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4

Suppose A, B. C and D are the 4 mtersection points of the curves f—8+ % =] and

-3t =5 in 1% 2% 3 and 4® quadrants respectively. If 6,6,.6, and 6,

respectively are the angles between the curves at A, B, C and D, then

3) 7

iy
P -I- i

18 8
Flovd SR A, B, C hoaly D oo oo, A, B, C ool D o & & dsv

| ooty ¥'-p' =5 Spv wotid Do 18,28, 3 S ook 48

S5z SGRr 6,6,.6, HO0K 7, vond, e

Options :

6, %6, #6,#6,

1. %
6,=0,;,0,=0,.0,#0,
2. % _ -
6,=6,,6,=6,,0, £ 0,
3. %
6, =6,=6,=6,
4.
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e 805 el

f:|210] >R is defined as £(x)=12 - Which of the following

-5, >4
15 true?
Ry
f20]-R & flx)=42" T g, & Sb P A0
-3, x>d
Vg’
Options :
f(2)# /(10)
1.%

¥ (r) 1s not continuous on [ 2,10]

[2.10]2 f(x) oDdys) S s

2. %

Rolle’s theorem is not applicable for f(x)in [2,10]

[2,10] 2 f(x) 5 &S @008 ©0SGoBSS

3.¢
Rolle’s theorem is applicable for £ (x)in [2,10]and Rolle’s point ¢ =6

12,10] 2 f(x) % S oy ohsBostivnn 005 66 dorkay ¢ =6

4. %
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X
I_ =dx —
14x
Options :
x' LiC
1. %

2. %
log(l+x%)
3_ e
]
i
1+
4, %
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|~ ( h

L

(P -d?)?

Options :

1. %



+C
(1‘2—5?2)
o5 e
——|x - 2+ C
- ”L(x ¢ )
— a +C
. & (,Tj_ﬂj]
! +C
a’ (:‘rz—nﬁ)
4. %
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For xaﬂ.f x> +2x dx =

x>08§, Ix/xz +2xdx =

Options :

s Iy Sllﬂl_l(T 1)
2 2

— —




x+1

L iy PO %Siuh"1 (x+1)+C

2 Jra
2_%-5

k. x’ +’?r—;C05h‘1(T 1) C
3. = - -

x+1 5 |

¥ +2x —=Cosh(x+1)+C

2 2
4.
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JAE:H dx
4 14+Cosx

Options :

/T_Z



2510 —
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il

I x f(sinx)dx =

]

Options :

%
Z,TI f(sinx)dx
0

¥
T [ f(smx)dx

]

7

27 I f(sinx)dx
0
3, #
s I f(smx)dx
4.9 ’
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_dy YLy +1) |
The general solution of — = 57 18
dx / \2 %
2 1:_% 3] =% |
)

_. x (y*+1
b — i ['1 ) — 8 rerde ATANN]
dx \2 %
297 +3| = |
rd

Options:

i _1-'4 4 4+3x° L C
T+t 9243 )

1. %
1 il 4+3x"
—log _‘1 - |=—=log g +C
4 L3yt ) 9 2+ 3x?

2. ®
1. ([ v ) 4 1
—log _'1 Fik=— o B
4 “\1+y" ) 9424342

3. %
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The strongest force among the following forces 1 nature 1s

&2 808 TS D& HEYIT KL ©Bg08 2AANHS 2SN
Options :

Electromagnetic force

SIAVIER SOV LAY



Weak Nuclear force

(VOIS E’;c@?i R BINIY

Gravitational force

ﬁocﬁu@tﬂﬁge& RSN

Strong Nuclear force

2200 30098 2oead®
4 ! bui
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Consider a sertes of measurements of the length of a box in an experiment. The readimgs
are 2.4m, 2.5m, 2.6m, 2.8m, 3.0m. What would be the relative error?
8 DOTRISNG’ a8 6 ), e ST STAGYE Sy Sudw
24m, 2.5m, 2.6m, 2.8m, 3.0m. @00 & SOBOS Fal G woth?
Options :

0.110

0.089



0.079

0.072
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For the following velocity- time grapl, the average speed for the motion durimg first
80 seconds 1s:

& Sold it fiody - S0 Caratosdng, 3nid 80 p&dus Wuso Ghug, NGO

VoMW

-l0ms pe======-

Options :

0
1. %

S m/s
2.



10 mv/s

0.25 m/s
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Aball thrown upwards vertically reaches a height 25 m n 1 s. The ratio of total distance

covered by the ball i time t=2 s and t=4 s s (use g = 10 m/s?)

208 80099 ARG 28 ARORYE | DS 25 m oS S60%0ld 8 & 206
t=2 %o 00k t=4 DS 3090 So Grer S ST ook

(2= 10 m/s* rr 8°0G)

Options:
|
1. %
4
2. )
2
3
3. %
3
4
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Car A 15 moving to the east with a speed of 30 km/hr, and car B 15 moving to the
north with the same speed. What 1s the velocity of car B as measured m car A?

w0 A 30 knv/hr dfedne” S8 H0lrened ook w0 B e ddeine” &80
Q36 0meioR. o S0 A dygPs 560 B dig) e odos?

Options :

42 km/hr, 45 north of west

42 km/hr, 45 Qg OIS

1. ¢
42 km/hr, 45" east of north
42 km/hr, 45" &SIy LdS
2. %
60 km/hr, 45 south of east
60 km/hr, 45 e0)oh &dS
3. %

42 km/hr, 45" south of east

42 km/hr, 45 esthya &3S’

4. %
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At time t = 0, a particle leaves the origin and moves 1 the positive direction of the

v

0

=10m/s and

X- axis. If the velocity of the particles varies as V(r) =V, (1 _tiJ
0

t,= 105, then the distance covered by the particle during the first 20 s 1s:

500t =0 bl 28 S 28 APc¥ abgeky hiredolioal) S0 e X- oy B3

—

08D, & o gy, ﬁ(z):?{l-i} 7ot [V

v 0
t{}

0ok ;=10 R8Koev, i) &) 20 L8 S & Sk Holreowd drdin:

=10m/s

Options :

200 m
1, %

100m
2. ¢

0m
3, ®

400 m
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A bullet of mass m enters a wooden block of length L at a speed vy and emerges out of

block with a speed vy, If F is the avers ge force which mpeded its motion through the
wooden block then correct statement 15
(Assume untform deceleration inside the block)

Qbgor m o aSan@ld L arliad o a8 36 B3 G810 ddiow vy e
WP3BK0NR. & B By, F 3000 ausne’ & WG OG0 Wanityond, &

408 U o SO0 PEFET eafcd
(% &y oo & 085 508 aammgensy 50 ) 5 e0)

Options:
—— I o] ]
=W
ZL( > )
1.4
- m 5
F:—(V‘ﬂf
4 p xR )
2. %
e m 2
F=2=(v,-v)
3. %
— m 2
F=—(Vv,+V
= (va+1)
4, %
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A car 15 moving with velocity V at the top of a semu-cireular hill of radius 40 m
such that the normal force on 1t is zero. Find the velocity (V) of the car.
[use g =10 ms™]

$ 40 o @Sl Gy @0 )T ol ), WaIw T 800 W) W)l
w5 5 V o & Sendady 6. $ dredy T, [g= 10 ms o]

Options :

15 ms™!
1. %

20 ms™!
2.

2 —1

30 ms
3. %

40 ms!
4. %
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If the average terminal velocity of rain drop is 2 ms™, then the energy transferred
by rain to each square meter of the surface at a place which receives 100 ¢m of ramn
I a year 1S

o 005 o009 G w500 ek 2 ms ™ eordooato. 0w a8 oy Fusing
w8 WG LD 100 cm cﬁ?ﬁ@o é@i"@@ g éém S4BTV
NRSCOWE LS

Options :

110

1 3¢ 1]

23 1070

-2

x 10*7
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Ahorizontal force F= (g - xz)i N acts on awooden block resting on a horizontal

smooth surface. The work done to move the block from x =0 to x = 3 m(in Joule)
is (use g =10 m/s") :

B S SRmoBrm %) %y B0 D 0 2 38, B ASRRo

won F=(g - )i N gcirhutonotind. soud & 34 BB x = 0 il
1= 300 8o w808 RS 0 (S8 ):
(2= 10 /s’ PSS R)

Options :

24
1. %

35
2. %

30
3. %

21
4. v
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A 750 kg boat 15 10 m long and 15 floating without motion on still water. A man of
mass 80 kg 15 at one end and 1f he runs to another end of the boat and stops, the
displacement of boat 15

2 206a5 750 kg 900 10 m rciades” 9338 63 2 wouioo Bundddy &, &2 i
a8 i 0ole 80 kg (3ad5078 (i) s TS ST DTS, eDie) & Deed ),
Folefodo

Options :

1.8 m 1n the direction of displacement of man

0AR Pdded HIS'I 1.8 m

1. %

0.96 m 1n the direction of opposite to the displacement of man

NN Fold if;&ggo% AN ég@@é &% 096 m
2. v )

0.96 m m the direction of displacement of the man

00 PIgfed HIS'I 0.96 m
3. % .

1.8 m 1n the direction opposite to displacement of man

502 Fod PSaJod BILH Sg30E &3S’ 1.8 m

4. %
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A wheel of mass 20 kg and radius 30 cm 15 rotating at an angular speed of §0
rev/min when the motor 15 turned off. Neglecting the friction at the axis, calculate
the force that must be applied tangentially to the wheel to bring it fo rest in 3
revolutions.

20 kg @dgoes h0a 30 om wrgrdeln o wl WIS B8 FPGPOD W

80 H0AmPO/R SO 3y 500, XyGaP0NaP Qo LN

QOIP(R) & Wieln 5 Bééaww QTGRS S0l SR GG, Sulka Gaa&oweds.

0.|'

Options :

1.06 TN
1.4

2.06 TN
2. %

3.06 TN
3. %

4.06 TN
4. ®
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A particle executes simple harmonic motion according to the equation
x(t)=A sin(at). If the time period of the S.H.M s 0.2 s, then the value of o (in

units of rad’s) 1s:

2 Saak x(t)=Asin’ (ot) 080k Dy AFPoSLE KoK Srodd. 62
SO gy Gomrdly Puy (.2 Redew, vowd o Jued (DEHR/RED
SSTEPUd):

Options :

Question Number : 94 Question Id : 3426041054 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A satellite revolving around the earth at a certamn height experiences acceleration
: 16 . ; ‘
due to gravity equal to ¥ gy when gy 1s the acceleration due to gravity on the

earth’s surface. If R 1s the radius of earth then the square of time pertod of the

Ipi
satellite’s revolution 15 equal to K L . The value of K is:
GM
8 GNP 4170 Wk §'oh WS DOJHRP I hloeeq il ol % SR

SHPADY Ag B30t Foliidod. s g OB 4D Giosoo

15 3. R 0 5 oot R 000 &iPo i Doefee
| 203

G5 S0 Y K0 K % $ % eawd K s
L ]

=1

Options :
21 g
36
1. %
ﬂ R’
- 16
"
1_“—5 R?
- 64
ﬁ R?
81
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The volume of a material reduces by 2 % when the pressure 1s increased from 1
atm to 2 atm. What 1s 1t’s bulk modulus?

o8 DG 9 R0IPodd aGrd) 1 atm S 2 atm K Hoddi, @
2050a57E2a50 2 % S0 & o %) aHSR Headsn odods?
Options :

10° N/m’

1. %

5 x10° N/m?
2. %

10° N/m2
3., %

5 x10°N/m’
4. &
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The work done mn breaking a drop of liquid of radius R (Surface tenston T) in to 64
equal drops is:

R rgRgsy $003 8 S0 o) (Suig T) o 64 S 56 hotoeare
DTS HORSOR 2R

Options :
ArR*T
1, %
TR*T
5 % 64
22T
R.‘_"
3.3-5
127 R*T
4,
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In a horizontal tube the water pressure changes by 1500 N between A and B as
shown in figure below. The cross sectional areas at A and B of the tube are 40 cm” and
20 cm” respectively. Find the rate of flow of water through the tube

W0 T o8 8 uPoB0 (Tal alndy A 0ol B ek iy e
i oy 1500 Nan™. A oo B © 868 Sodhgdyld dergen Suier 40 em’
$06c50 20 em’. o & T TIT o ) Harir B oo

o o o m omw mm omw mm omm omm o o mm omm oEw mw mm omm mmowm
- e S N S R S R e e B e e W
- e e O O R B S e S e s

Options :

1000 ¢cm’s™

1. %

2000 cm’s™
2. %

4000 cm’s™
3. ¢

6000 cm’s™
4, %
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The moment of mertia I of untform rod about a perpendicular bisector imcreases fo
[+ Al 1f the temperature 15 mcreased slightly by AT. If the coefficient of linear

- Al .
expansion is a then T IS

/ AT
{ AssumeTc::f: IJ
\

N é»ﬁ:&ogaaoc‘éé 39 oty af 4O é@s GIng) &ao"sés gratoln I, shooko AT &iiés

G g O e T+ ALTP 20N o G g8 (eadeld wowd % IS

(%«i«:l ® SW8oh)

Options:

35 AT

4 AT
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An 1deal Carnot engine whose efficiency 15 0%, recerves heat at 500 K. If the
efficiency 1s to be 60%, the intake temperature for the same exhaust temperature 1s:

o8 iy 5Ty 6 o iy 64O 0%, fbaty 500 K S eardy i

00wd 0l0a UEED 60% 30 om ol T8 GO0 HORAPIR @obler aifid:

Options :

600 K

625K
2.

650K

700 K
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An engme performs 2000 J of mechanical work and discards 4000 J of heat each cycle.
What 15 the thermal efficiency of the engime?

§ &a Ghogo 2000 J & QPSS DIWP, WO S50 4000 T &Py,
NSUNGIVIAY oNd Oﬁ)o@o Oluézr &B:.;) (88 Woth ?
Options :

45.5 %



2. %

25%
3. %

33.3%
4.
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A polyatomic gas follows a law T2V* = constant. Find o' for which the heat exchange
of gas 1n the process becomes zero.

W DGR Pl TAVE = 200 ) 0D 9860, sowd ) ‘o’

Pl
3

S0 48 8 98006 68 900 ) 0het

Options :
a=3/2
1, %
d=2/3
2. ¢
Lx O° 4/3
a=3/4
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A molecule 15 travelling m air at 300 K and 1 atm, and the radius of the molecule 1s
0.6 x 10" m. Calculate the approx. mean free path of the molecule. (the number
density 15 2.44 X102 molecules / m3)

0.6 X 101 m apgedel o 8.8 wmed 300 K adffied $65 506080 | atm ik &6
008pod. & @Y GUut, Ay S i 208D Sy oo,
(9% oS 2.44 X 10% eommaaf)en/ ab® P S ete.)

Options :
0.2 :
—x10"m
1.v 7
Exl{l"s m
2. x I
0.4 :
—x107"m
n
3. %
Exl{]‘s m
4. T
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Awire vibrates at a fundamental frequency of 500 Hz. A second 1dentical wire produces
5 beats per second with it when the tension i the first wire 15 slightly decreased. The
ratio of the tension in the second wire to the tension i the first wire 1s approximately

equal to:

0 Sobid & Gy R0 55990 S00 Hz. ke 6 Gty 85 g0y
S 0 BE0Y 5 &1 58 A0 5 aioyotird Sourepod. o Bolss &
000l Suiied B §3g S Fuseare B8 S

Options :

1.04
1. %

1.01
2. #

1.05
3. %

1.02
4.+
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A convex lens with lateral magnification 2 is used to 1mage a point at the bottom of a
tank. The image of the point is formed 60 cm above the lens. Now a liquid is filled mto

the tank to a height of 24 cm. It 15 found that the distance of the image of the same point
15 now 120 cm above the lens. Find the refractive idex of the liquid:

00 G 2P fo ad Hupsd LENY BGdIFeD ad Dl
S8y, §'E) OWEPier JOYR¥E F. @ ol PAdomh & B 3
Pt 008 60 ¢ PG o0, 2y & R 0 ocs” 24 o LK QR
98 & 2ol Heeloaedy & St 3 &Pl ot 120 em (oS A \Giodd. oW &
G5iSo G0y, aSatded heata:

Options :

1.31
1. #

.33
2. ¢

1.36
3. %

1.39
4, ®
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In Young’s double shit experiment, point A on the screen has a path difference of 4

and point B on the screen has a path difference of T What 15 the ratio of the imtensities

at point A to B?

0o @0l WKL PG, B0 dotined) A ), DXdedlieln 4 0600 dotined) B

gy, D /1 0003 o0 A 900 B © 65 o 50 2818 o ?
Options
! )
1. %
3£ 1
2. %
122
3. %
A5
4. ®
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A thin non - conducting ring of radius r has a limear charge density 7=/, cos¢, where
4, 1s:aconstant and ¢ 1s the azimuthal angle. The magnitude of the electric filed strength

at the centre of the rmg 1s:

2o 0 S Soaaky gy, apgPdedn 1 0 G Sedoth esald wPaff A=4, cosg,
a6 Ay ooty 000K ¢ oI et S, omd Kottty ), Soffo 4
g0 £ D0 oot

Options :
I A4
dre, r
1. %
o
2rEgy 1
2. %
2
4eg1
3. v
4y
28,1
4. %
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In the followmg figure C,=5uF, C,=C,=10pF and =20V . Inttially the switch S 1s
connected to pornt A until capacitor C,1s fully charged. After wards switch 1s thrown o

left side and connected to pomt B. The charge on capacitor C,after equilibrium is

reached will be

& 40 aiSeisd 38 C,=5yF, C,=C,=104F o0k e=20V. Jnitir g § &
Roldood) A 50 S0 €, s0pQrp escdtdedy doliatiod. & Eoegd g S oo et
fo i) B § S0P, 9508 B C, SRAG D o i ok ?

11
11
I 1

of ¢ c;f( =y

Options :

40 uC

1.4

100 uC
2. ®

50 uC
3. %

e
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Awire, 10 m long, has a resistance of 40 €. It 1 connected n series with a resistance
box of resistance R and a 2 V storage cell. If the potential gradient along the wire 15

0.1 m V/cm, the value of R 1s;

10 m 88cf) o el 00y, A0 40 Q. SRR b oedeaes R Ao i 2638
550000 2 V wompadé Podrs 008y, & doG ) %68 0.1 m Viem, ®owd R

AD;

Options :

260 Q
1. %

760 €
2. v

960 Q2
3. %

1060 Q2
4. %
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Force acting on an electron moving with velocity V' i a magnetic field B 1s (e 1s the

charge of electron):

B oo o0 208" V oS gosim) sy b 0 e (e s et

Options :
(VxB)
1.4
. G(V.B)
\
E=
3. % B
E;
[ i—
4. % ¥
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Two circular coils P and Q are made of two identical wires of the same length. The
number of turns i the P and Q are 4 and 2, respectively. The magnetic mductions at the

centre of P and Q are By and By tespectively. The ratio B—"is:

il

P 0080 Q eoahidid ol 8 riad) ), gl shysd &6l ubioen. P o0 Q
© Q%) Wity oy TP 4 dh0ak 2. P 0000 Q © dingy, @0lir) o i Sl

B
By 0008 Br. @3 B—" Wn:

Options :

0.25
1. %

4
2.

0.5
3 %

2
4, ®
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The susceptibility of Alis 2x10°. The percent increase in the magnetic field when
the space within a current carryimg torroid fo filled with Al 1s:

Al g o%g@ (bbé@@ﬁ) 2x107. &AL &.}Cﬁ)g@ éo‘ﬁgf’o:ﬁ S STPonG BT
2)oda)s) @Cﬁ)é"’&a@ E@oﬁl) 200 7o:

Options :
2x1072
2x107

2.9
2x107

3_5{-5
2x107°

4. %
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A citcular coil of area 100 cm® & 20 turns is kept in magnetic field of flux density
2 Wb- m?. It rotates from a position where its plane makes an angle of 30° with the
field o a posttion perpendicular o the field in a time 0.2 sec. Find the magnitude of the
emf induced 1 the coil due to 1fs rotation

100 em* Fregsiy HOAK 20 Wken (i 68 dody® Siidey 2 Wh- m? ol ol
P 20poknGal. w8 oo Sof & & Wy waliryed Egng’ 30°
S Wity EGGPRS Loralre 0.2 AN D0gfsnoinnd. wond D0pheo &9
& & S0y 2080y AdogBar U8 w00 D0 ST D)

Options :

2V
1. #

3V
2. %

1.5V
3. %

1V
4.+
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In the following cireuit an AC mput V, (t}=(20mV)sin (105 l) 15 applied a the left

end. The amplitude of the output voltage V, at the right end across the capacttor will
be:

S0 xS ool AC w065 8 V, (t)=(20mV sin{10°1) dicho et
Q00PFloar . 900 SFOEG aibs aote dad o o Vi alegaadn:

Options :

1.

2.

4.

14.14 mV

L

10.55mV

20.2 mV

#®

25.55mV

®



Question Number : 114 Question Id : 3426041074 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the following List A consists of wave length range of different of E.M waves and
List B consists of ways to produce them. Match the following

List-A List-B
A) 400nmtolnm I)  Radioactive decay of the nucleus

B) >0.lmm ) Vibration of atoms and molecules

() lmmto700nm II) Rapid acceleration and deceleration of
electron in aerials

D) <10”mm IV) Inner shell electrons in atoms moving
from one energy level to a lower level

& 5ol gl e A (List A) & J03h DghaF 08  Slorro W)
Satigrgo osleryon. 60w e B (List B) & & ddarrudh 6dyd b
QTN 0)T?) 00 . AR 23Badwole

- A oz -B

A) 400mmtolnm D) Sogd¥o ding) DEAP arO)s E0ko

B) >0.1nm ) HOSPe) 0 SHOIN ®ced)L Sommren

C) lmmto700nm II) rowSetered Qogg&o gy, Sg e
VSO WEAWRC e 3V

D) <107 mm V) S0srmal)da CHoss dussden af 8

00 $06 HOE Fowd SOeiblichy

The correct match is
S0l apede” VOGN 2

Options :

1. %



I I | IV

2. %
A B C D
IV I i i
3.¢
A B e B
I IV 1 1II
4. %
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[n a photoelectric expertment 3 different lights are meident on a metal of work function
1.5 eV, Light A is 200 nm wavelength with intensity 1.8 w/n’, light B is 400 nm with
| w/m* and light C is 600 nm with 0.5 win’. The current versus voltage is measured
Which graphs correspond to which light?

8 o g DO DRIt 1.5 €V 9 oo e el 3 g woonn o
o, P A 0T, Sderiddsl 200 nm Hoc S 1.8 wir', 308 B ol
&oriatizo 400 Nm o0k &0 1 win® 0oty %08 € ity &olidso 600 nm
550050 S48 0.5 Wi, X6 0050 5t (7 ot Rt ) [P o) Fod
o600 oQordols

IV

[

1NN

H » \oltage
S5
Options :
Light A LightB Light C
I I11 II
1. %



Light A LightB Light C
I I1 IV

Light A LightB Light C

I 111 IV
3. %
Light A LightB Light C
111 11 IV
4, &
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A mono chromatic radiation of wave length /15 meident on a hydrogen sample 1
around state the sample subsequently emis radiation of six different wave length, then

the value of 7 15
[Use ch = 1242ev-m]

P 36 %) PG ore B 1 StRG0 Mo 08 WSS o a8y
o & e wh 0y SeriRsund Jenslodiond, 4 Qe Wod?

[ch=1242ev-m 1P S0§G]

Options :

80 nm

35.

LN

1111



97.4 nm

3. %

100.2 nm
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Find the radius of Be' ions in its ground state assuming Bolr’s model to be valid
(a,=53pm).

0 -

56 o7 ) o BIPGE o%y, Be™ 0l gy, apgRGih §T ol

(a,=53pm).

Options:

20 pm
1. %

18.2 pm
2. %

16.2 pm
3. %

13.2 pm
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Which of the following 1s correct with respect to the following statements?

Due to diffuston of electrons fromn to p-side

I) electrons are accumulated i the depletion region

I1) electron drift current is from p - side to 7 — side

[11) an tonsed donor 15 left 1 the 7 -tegion

[V) electrons of 71— side comes fo p - side and electron- hole combination takes in p -
side

— — — —

wdp -1 %0 GAIPGE & $od) P B S P 1 oty p - Pl
e 2.

() G0 Pty opoen TR
IT) p- oo ool n - gPoSed ) o esixids alogd

1) 1 - ooy’ dbed)ols OG0 & WPadn

(V) 1~ 08 QU000 - Pl s 0080 p - Fothets

@D?jnﬁ) - C’Jogoﬁ)ﬁb : oGt DotdTPQN.

(
(

Select the correct option from the following.

& 50& TS b@@)é P ﬁ)@ofﬁo&.

Options :

(I) and (II)

(I) Sooodw (1)

1. %



(I) and (III)

(I) So&odw (I11)
2. %
(I) and (IV)
(I So6asw (IV)
3, #
(II), (IIT) and (IV)
(II), (III) o0adw (IV)
4.¢

Question Number : 119 Question Id : 3426041079 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



If in a p-n junction diode, a square input signal of 10 V 1s applied as shown

%8 P11 908 KOG, 10 V SE03rs0 A 038 os0onddyi

—

Then, the output signal across Ry will be:

R oo )53 Q6 Hoddhao:
Options :
10V
1w T
— —
-10V




-5V
3. %
5V
-— ——e
4,

Question Number : 120 Question Id : 3426041080 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For an amplitude modulated wave, the maximum amplitude 1s found to be 10 V
while the minmmum amplitude 1s found to be 4 V. The modulation mdex 1s

ot GRS SFTRNY, 10 Cusiiond 10V ook L Cudiond

4V, ood dridin e duus 0Joth?

Options :
2
2,
1. %
2
3
2. %



"-JI'JJ

4

7
4. %
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Question Number : 121 Question Id : 3426041081 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

S0l T¢I 23HRBOSW
List I List II
A) Chadwick I) Cathode rays
B) Rutherford II) X-rays spectra
C) Mosley III) Discovery of neutrons

D) J.J. Thomson IV) Nuclear atom model

DK - 1 He3% -1
A) w&gS ) =85& 380w
B) dj“‘(é&‘;]é ) X- $Sero SO0
0 D) SrgerSo saty o

D) 5 3. NS IV)  306% HOS5eew Saaras

The correct match 1s

SleTesSINEVL
Options::
A B C D
IV I 1T IT1
1. %
A B C D
111 I1 IV I



III II I IV
3. %

A B C D

M1 IV II I
4.9

Question Number : 122 Question Id : 3426041082 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of radial nodes in 3s and 2p orbutals, respectively are

35 00050 2p 0 )ErSER SEONS §'Eo Joagad QT
Options:

=2

(4
-2



Question Number : 123 Question Id : 3426041083 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a periodic property?

&2 806 e’ BSGS S350 PG D&?
Options :

Atomic size

RTOIN VLD Ta TN VLTS

Electron affinity

oﬁagﬂjf; S

Radioactivity

OGCIrarOy 5

Ionisation potential

Sloverilelola ‘55&0

Question Number : 124 Question Id : 3426041084 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following options represents the correct ionic radii in A of
N, 0" andF, respectively?

N",0" %00 F~ 0olror ), $00s @0ras argrorw, A ot S8
Options :

1.71, 1.36 and 1.40

1.71, 1.36 0003w1.40

1. %
1.36, 1.40 and 1.71
1.36, 1.40 60i01.71
2 %
1.71, 1.40 and 1.36
1.71, 1.40 3006a0301.36
3.¢
1.40, 1.36 and 1.71
1.40, 1.36 S00w1.71
4. %

Question Number : 125 Question Id : 3426041085 Question Type : MCQ Option Shuffling : Yes
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The order of the average bond length of the given bonds 1s

500 BRI 2owrw G VTPV0 200k B S0

Options :

=0V =Nl == N—=0)

1.33

(=CaeC=0+s0U=NzN-=0
2.

L =C<C=0<N—-0<C=N
3.33

C=NZ2C=0sN-D20=C
4, %

Question Number : 126 Question Id : 3426041086 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The shapes of BrFs and XeF4, respectively are

BrFs, XeFs es8yoen SQlre

Options :

square pyramid, square pyramid

WO rwrgselo , WeE0 Arwrgselo
1. %



square planar, square planar

ST DB, WEAEP DB
2. #

square planar, square pyramid

SEBH D0, $EH PEgsSo

square pyramid, square planar

BB AP gTTo, WEGH Dadee
4.

Question Number : 127 Question Id : 3426041087 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A balloon filled with an air sample occupies 3 L volume at 35 °C. On lowering the
temperature fo T, the volume decreases to 2.5 L. The temperature T 15

[Assume P constant]

35 °C &6 PO Qodd Bure 3 O D0rEed) eiioddd. adisd T 8
o)) @ e 90Te0 2.5 DB S0 T devdd

[PAANWERIENCAW I EWAN)

Options :

16 °C



= [

2.9

24 °C
3. %

20 °C
4. %

Question Number : 128 Question Id : 3426041088 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The followimg graph mdicates the system containing | mole of gas mvolving various
steps. When it moves from z to x, the type of undergoing process is

$old [P &8 3P0 P OR) (10 Sgaby Al SSOHOY P & PRGOS, Z Kobs X
% o3 9300

Z
;= = = B
V N\
WEF — — — —g— o
| |
T 300K 600K

Options:

1. %



Cyclic

&A%

[sothermal

NOINVRS
2. % B

Isochoric

Do) alnd wOeaI®Elo

Isobaric

SOV TP
4, &

Question Number : 129 Question Id : 3426041089 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

100 g of a mixture of NaOH and Na,SOs 15 neutralized by 100 ml of 0.5M H,SO4.
What 15 the amount of Na;SO4 present in the mixture?

100 o NaOH h0okv NapSOs © avgaedy 100 2.0. 0 05M HS04 &
@@@ﬁ@o&)f{sg : .{ngoﬁ)o@é NaxSO0s 2050

Options :



o0
b2
1=}

1. %

96 ¢
2. %

88 g
3. %

92 g
4, %

Question Number : 130 Question Id : 3426041090 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not a disproportionation reaction?
$08 eI OFYS DA W8y TR0 B?

Options :

Cl,(g)+20H (aq) ->ClO (aq)+Cl (aq)+H,O

F,(g)+20H (aq) —» OF,(g)+2F (aq)+H,0(/)

2. %



4C10;~ (aq) - €1 (aq) +3C1O, (aq)

3Cl1O (aq) —» 2C1 (aq)+ClO, (aq)

Question Number : 131 Question Id : 3426041091 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following relations 1s correct?
E W oy ' :
80 eI’ DOANS Do2oGSN I&?
Options :

dG =VdP + SdT

1. %

dG =VdP - SdT
2. ¥

AG =-RT m(K)
3. %

dU=PdV +TdS



Question Number : 132 Question Id : 3426041092 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The successive equilibrium constants for the stepwise dissoctation of a tribasic actd
are K1, K; and K3, respectively. The equilibrium constant for the overall dissociation
IS

G0 el 0T AGIAMI Bodea) VATV ATPesw e ST K, Ky
S0 K3 omcis P adriio Sodehd)ed Nederd @@oﬁoﬁb HOW

@

Options :
(K1 + K7 + Kg)
{/(KiJr K,*K;)
2. %

(K,x K,x K,)’

K, x K,x K,

Question Number : 133 Question Id : 3426041093 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



For the reaction H,(g)+1,(g)=——2HI(g)

Ha(o) + k(o°) ——2HI(o°) &g aangy,

Options :
K,=K._£0
1.+
Kep>Kc
2. %
Kp <Kc
3. %
Kp=Kc=0
4, %

Question Number : 134 Question Id : 3426041094 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The compound used as a moderator in nuclear reactors 1s

Srg8aNS BONFEEUS” G ST Dy Fiao
Options:

BEDj



D>0s>

2. S

D-0O
3. ¢

NaD
4, %

Question Number : 135 Question Id : 3426041095 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): LiC1 and MgCl, are soluble 1n ethanol

Reason (R):  Lithmm and magnesum are harder than their respective group
elements

08 en(A): LiCl Hoafy MgCh w &d'de Sdoeron
slas R):  uider e diroso Sl oo H005 Sy 0o Soore eotraw.

The correct option among the following 1s

& Sob aFUL MOdR
Options:

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) H8350, (R) H350 HOOKW (A) § (R) $0GHS 250e



(A) 1s true, (R) 1s true but (R) 15 not the correct explanation for (A)
(A) 050, (R) Degain ewowe (A) § (R) 0O a5 526
2. %
(A) 1s true but (R) 1s false

(A) H5g850, 20 (R) ©90e5ge50

(A) 1s false but (R) 1s true

(A) 0083050, 9 (R) D300

Question Number : 136 Question Id : 3426041096 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



Match the following

éoa‘a PTARY) &ﬂ@ﬁébo&
List I List IT
?’ﬂ%ﬁé -1 ?'.J@ﬁ -1I

Compound  Physical/Chemical property/name/ structure
SROLANWY 5T [ TPOdS W0y /280 /Roeyeao

A) H:BOs I) Dimeric form
AR RS

B) AICLz II) Back bonding
@égg AL

C) BsN3;Hg III) Hydrogen bonding
R ISEARIAY

D) BF; IV) Inorganic benzene

50 2ot
The correct match i1s
OGS 23
Options :
A B C
1 IT I11 | AY
1. %
A B C D
I11 11 IV I



I I II 1AY

3. %
A B L D
[I1 I 1Y II

4.

Question Number : 137 Question Id : 3426041097 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct statements from the below 15

(I)  Charcoal can be obtamed on heating wood i absence of air

(I)  Charcoal 1s mpure form of graphite

(I)  Diamond 15 thermodynamically the most stable allotrope of carbon

(IV)  Coke 15 used as an oxydizing agent durmg the extraction of ron from its ores

800 PES VOGN aedle
) PO O%one S e wbSsEh GoRt) Salbiy.

(

() 666 @0 Pl Guuty, S8R,

() Gl e w0 draroSlanod edyhl WSt Sub.
(

IV) %0 ot ey iy S 980§D o8 ¥0 U%ore iy

Options :

1. %



(I) and (IIT)

(I) 0803w (III)

(II) and (IV)

(IT) s6as» (IV)
2. %

(I) and (IV)

(I) 6w (IV)
3. ®

(I) and (II)

(I) So&asw (ID)
4.4

Question Number : 138 Question Id : 3426041098 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The fluoride 1ons make the enamel of teeth much harder by converting which of the
following substance / compound

&0 o) SRy O DolRd) BN SNy dured () A Yo
SOV

Options :

1. %



| 3Mg, (PO,),-Ca(OH), |

[3C33(PO4 ), Ca (OHL]

2. ¥
[3{?33 (PO, ), 'CHPZ]
3. %
| 3Ca,(PO,), -MgCl, |
4, ® _

Question Number : 139 Question Id : 3426041099 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Metamerism can be exhibited by the compounds containing
S0l PR SONN DTGP TFS0NIDD QROHTON.

Options :

monovalent functional group

QDEIoCIPEeE SO HAPIFSN

1. ®



bivalent functional group

& 000IrEE SO DSIPEP SN

double bond

& 52-&0&3053)

triple bond

%E-Joéoﬁl)

Question Number : 140 Question Id : 3426041100 Question Type : MCQ Option Shuffling : Yes
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In which of the following reactions, t-butyl benzene 1s formed?

808 ) 535S t- aaPgEIeS 3088 S 1F) S0 w8 EIB00B?

() Benzene +t- Butyl Chloride _AICL

Hoedm + t- 20r O 06 &:»

(I)  Benzene + (CHs), C=CH; BF3'HF>

eoeém + (CHs), C=CH> 0 >

(IIT)  Benzene + t- Butyl alcohol 1,50, >

2ozt + - 2FIEIO WLy FFO 1,50, >

AlCL

ZWHCI
AlCL,
Zn/HCl

(IV)  Benzene + Butanoyl chloride

Hots + 20Pglad OO §0G
Options :
(I). (IT) and (III)

(I), (IT) So6a%» (TIT)

1.4



(II), (III) and (IV)

(II), (III) So0asx (IV)

(D). (II) and (IV)

(I), (II) 0003w (IV)

(D, (II) and (IV)

(I), (IIT) Sooosw (IV)

Question Number : 141 Question Id : 3426041101 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total number of overlapping p-orbitals present in cycloheptatrienyl cation is
R TP PRI kol ©SPSRD -0 1ardL Dowg

Options :

4

N

3. %



4, &

Question Number : 142 Question Id : 3426041102 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An alloy made up of A and B metals crystallizes in a cubic lattice, where B atoms
occupy the corners and A atoms occupy the face centers. The formula of the alloy

formed 15

A 0ok B G 0yd8Gka0 Bod Qs el b i) Solry Wipow. golde
B SXiarmagn oo 600 A Hrran 08 alssnud eupan. 663
IS a8 P

Options :

A3B;



Question Number : 143 Question Id : 3426041103 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Which of the following mixture form an ideal solution?

808 a¢3eS" 65658 TEs IR, WS YEVIE E?

Options :

CCLACH;
1. %

CHCL, +C H,
2. %

H,0+CH,0H
3. %

Question Number : 144 Question Id : 3426041104 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



The freezmg point of an aqueous solution containing 25¢ of ethanol i 1000g of H,0
is [K=1.86 K kg mol]

25 o S0 1000 ro. G 00T ol dng WS P
[K¢=1.86 K kg ol

Options :

025 %C
1. %

3
2. %

~1.5°C
3. %

o
4. &

Question Number : 145 Question Id : 3426041105 Question Type : MCQ Option Shuffling : Yes
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A metal plate of dimension of (1x2cm?’) has to be coated on both the sides by Cu
metal. How long does it take to deposit Cu of 0.01cm thickness, 1f 1.5A current 1s
used?

[Electrochemical equivalence of Cuis 0.0003 g/e and the density of Cu s 9 glem’]

D2’ Sodw fo i Doy e der Cu Sirdne’ Jpomtad. 1.5A
5)6’))595&3 0o $00 00S 0.01 Ao, . Doddaines” Cu AENBGB0b.

[Cu G, aiog Gira uemscliy 00003 1/ Sreeds 516050

Cu %ol 9 7. /R0’

Options :

400s

800s

2. &

120s

160s

Question Number : 146 Question Id : 3426041106 Question Type : MCQ Option Shuffling : Yes
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For a reaction A+B — P, the following data are provided

A+B - P 0 %33 S0 TPow0 5206

Entrty [A]mmM [B]inM  Initial rate (M/s)

] 0.02 0.02 2x107
2 0.02 0.04 4x107
3 0.04 0.04 8x107

The rate constant for this reaction i standard unit 1s

&1 U503 CIng). Bew LT8R D Dalrre oor eSS

Options :
5
1. %
e
2. %
24x10™
3 %
50
4.

Question Number : 147 Question Id : 3426041107 Question Type : MCQ Option Shuffling : Yes
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For precipitating Fe(OH), sol, the best precipitating agent is

Options:

Na,SO,

Cr(OH),

Al(OH),

Na,[Fe(CN),]

4. &

Question Number : 148 Question Id : 3426041108 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sulphur on boiling with NaOH solution forms
9036 NaOH graeaots 50600256 o836 Hargren

Options :

Na,S,0;+Na,S

1.4



Na,SO,+S0,

2. %
Na,S,0,+NaHSO,
3. %
Na,SO,+H,S
4. %

Question Number : 149 Question Id : 3426041109 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Comuimnercial name of Peroxydisulphuric acid 1s
VTEEYEIC Y6 G0y, Tmedesg TeeSw

Options :

Marshall’s acid

é?céé @@ﬁw
1. %
Caro’s acid
& &95305500
2. %
Oleum
50000



Fuming sulphuric acid

PSS, 0085550

Question Number : 150 Question Id : 3426041110 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Which of the following does not exist?

808 TS’ &S SO DB?

Options:

XeOF,
1. %

NeFL,
2. ¥

XeF,
3. %

XeF;
4, %

Question Number : 151 Question Id : 3426041111 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The element with highest standard reduction potential (in Volt) [M* —M] among
the I* row of transition elements i

0 A0S0V sz JdE SHKSD 2 Qo OO08 Dirn 4ahida
SrE3ROMS(Volt) M — M] 880 ol
Options:

Ti

Ni

Cr

Cu

Question Number : 152 Question Id : 3426041112 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The correct order of field strength of the following ligands 1s
80l OrPobw EGFTy @SGHre Savain

Options :



N*>C,0,> >NH, >CO

1. %
N*">NH, >C,0,> >CO
2. ®
CO»NH,=C.0,” 3> N*
3. ¢
CO >N >NH,>C,0,”
4, =

Question Number : 153 Question Id : 3426041113 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The Zwitter 1on among the following is

800 ES” NS VOIS
Options:

I

I

R-CH-C-OH
|



_NH
ol-'
R — CIH —fE :(gH
o NH;
3. %
7
B OH—0-0°
®NH,
4,

Question Number : 154 Question Id : 3426041114 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The Swarts reaction yields

38y 505 o 3K

Options :

Iodohydrocarbons

WONE T TN



Fluorohydrocarbons

PE arEIHOw

Bromohydrocarbons

AP FETINOW

3. %

Chlorohydrocarbons

§'C rETO oW

Question Number : 155 Question Id : 3426041115 Question Type : MCQ Option Shuffling : Yes
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The major product of the following synthetic reactions 1s

Sod Dogner WS Ve 1) S0

A=

1)CL,. hv
1) alc. KOH
CH,CH,CH, >
111) CL,, 773K
iv) AgOH(aq)
Options :

1. %



CH,CH,CHO
2_ E

CH,=CHCH,OH
3.9

CH,CH,CH,0H
4. %

Question Number : 156 Question Id : 3426041116 Question Type : MCQ Option Shuffling : Yes
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The major product of the following reaction sequence 1s

é@ﬁ15CF3ﬁﬁboffgyﬁﬂﬁf%ﬁiyﬁlﬁbo
NH

4

1) NaNO,, HCl, 273-278K

i) H.0, warm
SRR

i11) Br, (excess
) h(@&g)

iv) NaOH
v) CH|I

Options :

OCH

Br Br

OCH
Br

Br
2. ®



OCH
Bl' Br

Laid

Br
4.

Question Number : 157 Question Id : 3426041117 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The molecular formula of the final product of the following synthefic scheme 15
406 03 U0 B P 6913 50 Tty o PGy
i) KCN
Benzyl Iodide ——
1t) CH,MgBr
ui) H,0°

Options :



CIDHHO

2. %
CyoHsN

3. %
CoH,,0

4. v

Question Number : 158 Question Id : 3426041118 Question Type : MCQ Option Shuffling : Yes
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The major product formed when salicylaldehyde 15 reacted with 2 equivalents of
bromine in glacial acetic acid at 0 °C

0°C & FOUPORTE iramShih RS s 2 doemgoso S Sog el

biﬁﬁ DT 68 )
Options :
Br
OH
CHO
1. %



Br

OH
Br CHO
OH

Br CHO
3. %

Bi OH

Br CHO
4. %

Question Number : 159 Question Id : 3426041119 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement regarding acetic acid

DVETNSE Do20BoD SR FESV

Options :

1.4



Acetic acid 1s obtained when calcium acetate 1s distilled i the presence of
calcrum formate

000 NG5S0 FO00 FUE 0Lt AU b Aotiwey
RN

Acetic acid 1s used in curing meat and fish

3307005500 SOOIV WO DSBS @méﬁgﬂ%ﬁ% ), TGS

Anhydrous acetic acid 15 known as glacial acetic acid because it forms 1ce like
solid below 16.6 °C
Ao DREFEF), PP Tl @obrl) wlold¥e 16.6 °C 5ol
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3. %

The catalyst used n the conversion of acetic acid to trichloroacetic acid 1s red
phosphorous
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The correct order of basic strength of the following amines 1s
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NH,
J
| NH
= 3
}II N
H
(D) (1) (IT) (V)
Options :

(I) > (II) > (IV) > (ID)

1. %

(I1) > (1) > (IV) > (1)
2. #

(I) > (I) > (IIT) > (IV)
3. %

(I) > (II) > (I) > (IV)

4.+



